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Question ID : 26433057789
Status : Answered
Chosen Option : 2




Q.2 IF ey &1 aga $¥ &l T TEn A I yeR Fdftd & R yeR g wen gad
T ¥ SR uiEd T@n od) e & gdfta 21
11:91::?:154::15:127
Ans X 1.14
X 2.24
X 3.16

& 4.18

Question ID : 26433059942
Status : Answered
Chosen Option : 4

Q.3 fEfifad IR sreR-TaeE! # F 69 ol A adie & T § 8T 39 YR Ue 98
T &1 B T JER-TAE 39 UHE | wahta T8 872

Ans 7 1. XFIK
< 2. AMRW
< 3. KWBG
< 4.PBGL

Question ID : 26433081504
Status : Answered
Chosen Option : 1

Q4 I YT P TG S RraH F=mg oy § I3t weR defta § R vor i
Tl I WIS | T& i 2
(File: Tl B 3P ged 3wl A faurim fre famn, gof Temai w nfvrdiy wifsran «t
ST TR | IeTeRvT & Y 13 - Kty Aferant S % SisAIge AN 31 3dife 13
T fpar oI Jpar 21 13 B 1 3R 3 W fauriora &1 iR fihe 1 3R 3 wR nfordiy Wftrang
P P Al T 7 1)

(23, 161, 207)
(47, 329, 423)

Ans X 1.(84, 442, 570)
X 2.(33,97,297)
X 3.(29, 112, 782)
& 4. (64, 448, 576)

Question ID : 26433068386
Status : Answered
Chosen Option : 4

Q5 FRAxBHTASLfF A BHI UGS, A+BFT IS TF A BFIATIE, A-BHT AL
& A, B 371 UTE 2, dt Fraferfad & & o149 a1 oivie a8 Aefd sear g, 7% q, P &1 4ig 82

Ans X 1.P+Q=R
X 2.PxR-Q
X 3.P-Q+R
& 4. P-QxR

Question ID : 264330104989
Status : Answered
Chosen Option : 4




Q.6 f3u e Gl frgl aur TEmait B AT § RER gean |, Fafifad # @ 1 a1 aeiiew

& B S
+qYUT—, 7941 3

Ans X 1.3+7+1-4x2=16
X 2.7+3x9-8+2=30
& 3.3x4+2+7-5=16
X 4.9x7+3-4+2=18

Question ID : 264330105136
Status : Answered
Chosen Option : 3

Q7 ok & T F AT e TRufaEt wr T (mpE 1 @ 3)
g1 '3 I Borw & AT B W HEAT AT SIS

Y QY

figure 1 figure 2 figure 3
Ans X 1.1
X 25

& 3.2
X 4.6

Question ID : 264330702438

Status : Answered

Chosen Option : 3

Q.8 IY fahey BT Iu B, RrHT uiad 3eR-TYe § 3P a8 Y §, oY e gy 31&R-
TYE P UEA AEGR-TYE | & 3R & Ay Y 3eR-TYE BT Y ek T A 21
CAST : DCVX :: BUSH : CWVL :: ARMY : ?

Ans 7 1.BTPC
/< 2.PTCB
< 3.TBPC
/< 4.CTBP

Question ID : 26433069022

Status : Answered

Chosen Option : 1
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Question ID : 26433080518
Status : Answered
Chosen Option : 3

T ¥ SR uihdl Ten 9él wen | Jdta g1
18:234::?:176::14:126

Ans 7 1.16

X 2.20

X 3.14

X 4.15

Q.10 I fyreq &1 g &3 il it T= A I PR Jaftd § o TeR gt o gadt

Question ID : 26433059939
Status : Answered
Chosen Option : 1

Q11 A#BFTAIRfF A BITUE R
A@BHAIEfF A BRI
A&BHI IS F A BB UA
A%BHTAIR P A BHIHIT
TIX@Y&Z#UEW@VE du, va fFa ueR Gafta 82

Ans X 1. 98
& 2.9§
X3l
X 4.Udll

Question ID : 26433065961
Status : Answered
Chosen Option : 2




Q.12 gwﬁam;rmﬁ,ﬁ%ﬁw%wﬁaﬁwﬁﬁﬁm%ﬁawmwmw
Hafdra g1
(13! Y srfyuf SRS/ =gl & =0 & 7T 9T AR 3R 378 Weg F el Ft Tw/
%ﬁmm/ﬁﬁaﬂw$mmwwwﬁmqﬁ%mmaﬁm)

Ans X 1. gl
o 2. iR
X 3. B

X 4.9IXR

Question ID : 26433056818
Status : Answered
Chosen Option : 2

Q.13 Tw FAfda e U &, ‘complete the drawing’ F1 '837 %Wﬁwﬁﬂﬂﬁﬂ?ﬂ% ‘do
not leave early' @Y '2355' % U § e P47 SITdT @ 3R ‘we need break’ @1 '245' &
wﬁwﬁmm%l I UTaT F ‘kindly stand straight’ aﬁmmwm
STQ?

Ans X 1.456

o 2.658
X 3.856
X 4.769
Question ID : 26433067773
Status : Answered
Chosen Option : 2
Q.14 13T T HY=T 3R frewut B ufeu| g5 A gU % wuAl & & 1 SFeR) 9|

?, Hd & 98 9= U A 9 ﬁﬁamﬂaﬁ?ﬁg‘r fofa Fiftme fo fow g fresof &
A PH-UTRA FYI BT ISP U A STAV HdT /B 8 1

DY

- 59 qrafed foam §1

- 9} arafer aigd €1

aﬁs‘amf%«r—rﬁrmqé’r%l

! m‘réﬁrmfﬁuﬁ?é’r%l

II. o g a8
. Taft S frer €1

Ans X 1. %ad Y | 3R 11 STERU A §
o 2. Paq DY || STRUFHIT S
% 3. Pact b | STERUIBRAT &
X 4. Faq fFrsme | SR 1] SIER0T R §

Question ID : 26433058079
Status : Answered
Chosen Option : 2




Q.15 1 RT 1T uy § $© BY 3R I a8 371 HYHI W 31uia o frepd feg 1w ¥ ey
T HYAT B e °AH, U & ITH FTaa: Jid gt S fRsrar 811 3af ey ud ofik fr
fruifea #3¥ & F19 § e, T T FY4=1 &1 aifde T0 F gERu Hd 81
DY

II. BYE THY, PHUS T 2
. 13 JHus, fiFe TR

Ans X 1. %Had IR | STERUI BT §
2 2,13 11 ST P SreRer a8
X 3. T s S gERT R B
& 4. 1S 1 Frsp SrgERur T dRar §

Question ID : 264330104935
Status : Answered
Chosen Option : 4

Q.16 T 3epH faar T B, Foraw A v ug g 21 2 e fawenl # 9 98 98t fawew gfig, st
ST B R B
CABQ, CEJC, CIRO, CMZA, ?

Ans X 1.CMNP
« 2. CQHM
X 3.cam
< 4.CMRT

Question ID : 264330104840
Status : Answered
Chosen Option : 2

QA7 3 e aiTepfa 1 1o FIRTC Forgd € s ol () S Y =0 E il g € crpfa S e
ESUIRER Y

=t

< 1.

Ans

Question ID : 26433068901
Status : Answered
Chosen Option : 4




Q.18 fou T gHiieRw & F19-3 31 RIgl & WIF WRER ged 37 I gHiw0r Tgierd 8 sem?

(50 +3)*15+25-10=25
Ans X1_+sﬁT*
X 2.+3R-
X 3.+ 3R -
o 4+ 3R

Question ID : 26433067848
Status : Answered
Chosen Option : 4

Q.19 fafafaa o & $i9 @ e & S Avf & g (7) F wE w amefte
1,3, 6,18, 36, 108, ?

Ans X 1.224
& 2.216
< 3.196
X 4.236

Question ID : 26433067876
Status : Answered
Chosen Option : 2

Q.20 fFafafEd & & S 1 JeR-ae § 715 @ § uuiE (?) $ VM W em?
BLJS, FOLT, ?, NUPV, RXRW

Ans X 1.JRMU
X 2. KRNU
3. JRNU
X 4. KRMU

Question ID : 26433059862
Status : Answered
Chosen Option : 3

Q.21 @it & fAun TUg &1 999 B (W <: TBS Fi 3P Jued P! A fqurim fre
3, gof wemsit R wfthard frearfea @) sl =g | Serevor 13- - 13 W s o
o 13 | STSI/=aeHIATON SRAT 3fS faram &1 Wehar g1 13 &Y 1 3R 3 & dis-T 3R 3R
frT 1 3R 3 WR T wfparTd 3 F ergafa TE @)

Ans X 1.(5-50-1000)
X 2. (6-60— 1200)
« 3. (7 -70-1600)
X 4. (4 - 40— 800)

Question ID : 264330105093
Status : Answered
Chosen Option : 3

Q.22 Tw [Afdd ey § 'DAISY' B 'FelQw' & U H i@ wiraT § iR 'ROSES' ®1 'TQSCQ'
F U ¥ forar wrar 81 I W # 'LOTUS' HY A ferar wmam?

Ans X 1.NQTSP
< 2. NPTSP
« 3.NQTSQ
2 4.NQSTQ

Question ID : 26433067329
Status : Answered
Chosen Option : 3
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Question ID : 26433068203
Status : Answered
Chosen Option : 1

Q.24 39 APeq o1 9= PR Y 3T T I & 39 ¢ HH &+ AeRa sear g S wpad
3l eI H 3md §

. Humility

. Humbug

. Humanoid

Humidity

. Humoresque

Humanity

. Humectants

Ans X 1.6,3,2,7,1,4,5
X 2.6,3,7,2,4,1,5

NouhwNn=a

@ 3.6,3,2,7,4,1,5
K 4.6,3,7,2,1,4,5

Question ID : 26433068930
Status : Answered
Chosen Option : 3

Q.25 %ﬂnﬁaﬁm&ﬁaﬁmﬁwmﬁwﬁaﬁr@aﬁﬁﬁm%aﬁﬂﬁ

3dur4
Ans X 1.9x3+6+4-8=1

& 2.4%x6-3+9+1=25
X 3.3x7-8+2%4=27
X 4.3+5x4-6+2=16

Question ID : 264330105107
Status : Answered
Chosen Option : 1

Section : General Awareness




TEIR?

Ans X 1.3y UG
X 2. Ruraa wem
X 3.

4. AHETg

Q.1 fFH 5T PR A Rydaw 2022 7 T4 HHw AR SHBRE (Chief minister's breakfast)'

Question ID : 264330105311
Status : Answered
Chosen Option : 1

Q.2 UW.3MTS.T4. (FIH) T3V SR gio! fay HU 2018 w5l mafora fam war ur?
Ans 1.&%?,5114":%

X 2. UfeH, s

X 3. fagm, siffecan

X 4. ferafsmT, S

Question ID : 26433059403
Status : Not Answered
Chosen Option : --

Q.3 YU e dIeT 1 dis Taues fPa Frged fear mar @2
Ans ¢1.Wﬂﬂcﬁ

X 2. 0T gIETdt

X 3O

X 4. TR T

Question ID : 264330105317
Status : Answered
Chosen Option : 1

Q4 fder 2022 ® TRy, 78 fAweht & -1¢ e & wu # foa frgaa e man @2
Ans 1. TH. ST

X 2. FfaA gy

X 3.3 Gerugy

K 4. P IHIH

Question ID : 264330105352
Status : Answered
Chosen Option : 1

Q.5 I |1 A ATad BT TG TST IAGD 82
Ans X' 1. UM

X 2. i

& 3. URd

& 4. A

Question ID : 264330105612
Status : Answered
Chosen Option : 4




Q.6 YR W™ & foba Wiftre o few 1w 82
Ans 1.1
X 2.17
X 3.12
< 4.14

Question ID : 26433086781
Status : Answered
Chosen Option : 3

Q.7 Money multiplier can be expressed as
Ans X 1.1/ Statutory liquidity ratio

” 2. 1/ Cash Reserve Ratio
5 3. Statutory liquidity ratio / Cash Reserve Ratio
/< 4. Cash reserve ratio — Statutory liquidity ratio

Question ID : 264330105376
Status : Not Answered
Chosen Option : --

Q.8 YRd P faeh AR F Fau A frd avf &I fAHTSH 1 9 FRT ST 82
Ans X 1.2010

2. 1991
X 3.1981
2 4.1996

Question ID : 26433054792
Status : Answered
Chosen Option : 2

Q.9 FUfRIET YR IR FiaeRI # ¥ fFad 7 ) 983, 4 # TF YRR 82
Ans X' 1. 3¥TG Yo W@

X 2. TG SR g&

3. TG fafeyeas @

X 4. FG faemad @

Question ID : 26433064790
Status : Not Answered
Chosen Option : --

Q.10 SIS 3R Wa fFa TR T & S g URT §?
Ans .y 1. HOTGE

X 2. WRa-eH

X 3. Sfifseh

X 4. Mifgferey

Question ID : 26433054314
Status : Answered
Chosen Option : 3




Q.11 YRa F e # Iwrefesthy awmara A 39T g B

Ans 1. ST &I WS
< 2. URIId AR
X 3. RF AR
X 4. {FE AR

Question ID : 26433066503
Status : Answered
Chosen Option : 1

Q12 Zrom-A Ft Fie-B % @Tr gﬁﬁﬁ Eg

FITH-A (FITRAHTT) FITH-B (F1)
i. ATSRITegT a. 9 gIAgor
ii. TEErEE b. T FIEreHr & ThamRerT @ Afemas
ii. SR c. FRH H I=T T
iv. STEEEE d. F=T T

Ans X 1.i-c, ii-a, iii-d, iv-c
o 2.i-d, ii-a, iii-b, iv-c
X 3. i-a, ii-b, iii-c, iv-d
X 4. i-b, ii-a, iii-c, iv-d

Question ID : 26433082211
Status : Answered
Chosen Option : 2

Q.13 2019 ¥ IHTGH REBHR U HA TTA F! {Ha-1 Tovg REPR (Wi 7+) faam mar?

Ans

X 1. 32 o

X2 I3 &m@F
X3 34 o
v 4 1 T

Question ID : 26433082153
Status : Not Answered
Chosen Option : --

Q.14 % HFEV HETUTH, ﬁ%zooo?}wﬁmﬁwﬁamwm YR & Fufetaa &

oo IRAT T F
Ans X 1. YD

X 2. DYl

X 3. HfefereH

o 4. Siifsdt

Question ID : 26433090705
Status : Answered
Chosen Option : 2




Q.15 2011 P} FIUAT & TR FufafEa 7 & e d= miia vezRTa o1 Trafed?
|9 ot 32

Ans 1 f9ER
X 2. aiERf
X 3. IR U
X 4. 9mTg

Question ID : 264330105513
Status : Answered
Chosen Option : 1

Q.16 Faa™ Heqg AR & Fufifaa § 3 few 6w § uRa smar u1?
Ans 1 TGl

X 2. P1gd

X 3. PIUR

X 4. SreTE

Question ID : 264330105410
Status : Answered
Chosen Option : 1

Q.17 fraR i IR aw@l: ARy, DTy ik Ity Ft@w 9, ok snyfae fafy
TR T P gRT Tl & Udie P 7T T a1 §1 31&RY &1 SuaT fohar Sirar 82

Ans X 1.9 Sleed

o 2. e Tl oy
X 3. @R
X 4. g Sl
Question ID : 26433064084
Status : Answered
Chosen Option : 1
Q.18 JHERATHT & gOR TS A 1 fqazur 31

Ans X 1. 3[R & TR
2. AHIR & AABIA DI ge1sl
X 3. PR P gl
X 4. 3HR F gdall

Question ID : 264330105438
Status : Answered
Chosen Option : 1

Q.19 Fafafad & @ 9 RN ok TgTYRd I &1 HHad $A a1 9F o1 32
Ans X 1. BN IR

2. B ™

X 3.3 yRge

X 4. BN i

Question ID : 264330105206
Status : Answered
Chosen Option : 2




Q.20 FTFR (Langmuir) 7 3TF F T RR T4 3= F TR &) Aares ok gt
STEY" TTeg P YFATT FIb G JTURYN & JUR 5w adf # fawar ur?

Ans X 1.1915
X 2.1917
X 3.1921
& 4.1919

Question ID : 26433064076
Status : Not Answered
Chosen Option : --

Q.21 Y YHR P IgH B HfAP QAT TS AT ST Wbl 82
Ans X 1. GIRHR

2. TNURR

X 3. Slawrse

X 4,915

Question ID : 26433064192
Status : Answered
Chosen Option : 2

Q.22 §IRE | 1791 H f5H Haw ot RTTT 58 A2
Ans X 1.TdMG Hlad

2. feg @ia

X 3. Rrawh ®ias

X 4. T%d Hic

Question ID : 264330105577
Status : Answered
Chosen Option : 2

Q.23 fgfrfad # 9 Fi9 I g g 82
Ans X 1.Ugdluad

X 2. gdf uaq
3.
X4 AT
Question ID : 264330105652
Status : Answered
Chosen Option : 1
Q.24 T IS AT &b A R SEIford fore oira €1

Ans X' 1. 30 WMPR
7 2. 59 TG ST
X 3.8 MIR
X 4. TG ST

Question ID : 26433064835
Status : Answered
Chosen Option : 2




Q.25 RaPTel Siifie-2026 F AvaT fFad gRI B TEf?
Ans X' 1. &Sl

o« 2.3

X 3.5

K49

Question ID : 26433071554
Status : Not Answered
Chosen Option : --

Section : Quantitative Aptitude

Q1 =fefas awaw & @i seeraeer & X, Y #R 2 G Rew $o a5t & el & aeen & s
(T T #) EfT AT §| w-aE w5 e S Ak Jfe R e gee @ sar e

W pulses
X ¥ and 2

Production of pulses (in lakh tonnes) by three different countries X, ¥ and Z over the years = JiF
eI 32t X, Y ¥ Z gEm fewt go ot A el # semes (s a )

& & #1999 a6t = AT IoNeT (T e #) sfean 37
Ans X 1.Y

K2.X

& 3.2

X 4.y Rz

Question ID : 26433093186
Status : Answered
Chosen Option : 3

Q2 Grafafes o o v vt ¥ v W ¥ FET § AR W 12,00,000 ¥ F 7 A
wiafAfae w1

Hrife, wd X confees W wE BT v $w wF w1 wihwe fheer § (@ $ o TuE s 9en)?
Ans X1 25.25%

& 2. 42.22%
X3 30.25%
X 4 18.65%

Question ID : 26433082603
Status : Answered
Chosen Option : 2




Q.3 TS AR P A Q qF Bt AT 50 km/h BT AT A HaT 8 3R T a1t F 60% FI IS B
U 919N elear g1 g1 arnsit & e Saet sitad are faast 82

Ans 7 1.61.583 km/h
5 2.35.61 km/h
< 3.16.53 km/h
< 4.31.56 km/h

Question ID : 26433072997
Status : Answered
Chosen Option : 1

ad e tana=2 8. 3 Fafeed &1 A a1 87

(5 sin?A — 2 cos?A) + (15 sin?A + 3 cos?A)
Ans
X1~
77

x2 2
5

2
& 3. i
87

2
47

x4

Question ID : 26433058826
Status : Answered
Chosen Option : 3

Q.5 TP gPMER TIGRI & 1T fiF PR P ge W UgH Far g1 379 A 59 wiw &1
Fe fa=rd e it 82
1. 10% Pt & Hi® Fe
II. 15% 3R 5% B HHIH Fe I
I1l. 20% el

Ans 1. $HId g WM Il
X 2. Pad e DA Il
X 3. FIAFc DI
X 4. 9 I e UeF ad §

Question ID : 26433075730
Status : Answered
Chosen Option : 1

Q.6 TP HaqTH! IRl T 3R Sud Y, 8 IR 12% S9YUf §Te} T SUGRT B wiam
1 81 Faa Sraguf aTet HT UGN HXb IuFb A1 wlard | fraht afS gs 82

Ans X 1.26.32%
o 2.25.44%
< 3.22%
X 4.24%

Question ID : 26433065274
Status : Answered
Chosen Option : 2




Q7 fFEfifRT AP oS YT T8 87

Ans X 1.20 m/s &I T1E 85 km/h BT TG I HH Bl B
X 2. T8 3l T1a § Ty HR% THY B 0T BT o Goball §
X 3. 39 gHg | 99H g8 a9 oA &1 3 § 3 91l
« 4. 99 km/h B FTd 24 m/s B I I HH Bl 81

Question ID : 26433091624
Status : Answered
Chosen Option : 4

e & WA B
253 753 + 50°
Ans X 1.281350
x 2.-281450
«” 3.-281250
x 4. 271250

Question ID : 26433075288
Status : Answered
Chosen Option : 3

Q.9 40 3TEH TH B B! 15 31 T R T TPd &1 ITH BH IR= HI1 & oI &7 a1€ 20

3R 3imeHft I 1Y I A § | a8 TR H1H fpan fa F @y ghme

Ans X 1.12
X213
X 3.10
o 4.1

Question ID : 26433076309
Status : Answered

Chosen Option : 4

Q10 1002 — 992 + 082 _ 972+ 962052 + 042 _ 032 +

T A 18?2
Ans X 1.4950

X 2.5050
X 3.4985
o 4. 4995

...... 122112

Question ID : 264330105927
Status : Answered
Chosen Option : 4

Q.11 4567 ¥ 98 DI A B! DIH-H FBI ST = fF TRTea 7 & fFursa g2

Ans 1.4
X 27
X 3.6
X 4.5

Question ID : 26433072992
Status : Answered
Chosen Option : 1




Q.12 TH AABC § H101 B 3R 10T ¢ & Sfiaike TaGHUS® 105° S B0 IR Hfaedg a3
YT A BT U T 82

Ans X 1.75°
X 2.525°
X< 3.15°
& 4.30°

Question ID : 26433073118
Status : Answered
Chosen Option : 4

Q.13 yuifer am=t @t yeirait I By &1 ufamg 13 & sRreR 31 U fram Ry a9 |@va 82
Ans X 1.7

X238
X 3.6
F 4.5

Question ID : 26433075256
Status : Answered
Chosen Option : 3

Q.14 |E! Sieig He® BT T BIT|

Ans X 1. ab—a-b+1=(1-a)(b-1)
X 2ab+a-b+1=(1—-a)(1-b)(1-a)(1+b)
X 3.ab—a-b+1=(a—1)(1-b)
L 4ab-a-b+1=(a—-1)(b-1)

Question ID : 26433085784
Status : Answered
Chosen Option : 4

Q.15 12, 24 3R 27 FT IFYUTE, A 3R 36 F FAITIUTT b SRR g1 A BT A F1d DI
Ans X 1. 26

K222

3. 24
X 4.20

Question ID : 26433063943
Status : Answered
Chosen Option : 3

Q.16 it Arys &t T Yol Bt da1g (cm H) HHR: 48, 55 3R 73 71 TG Tl Yol & A
fig @) 39 T =i & S arelt mifersT &) @a1g (cm &) fpa- gnfie

Ans X 1.24
K273
K 3.275
o 4.365

Question ID : 26433065314
Status : Answered
Chosen Option : 4




Q.17 Te TrEa Ma Ft aed Biear 4 .M. aun siafvs Bear 1 .. 31 59 @rad M &1
3T T 82

Ans X 1. 68p Q.13
2. 84p T3
X 3.48p QA3
X 4.92p 973

Question ID : 264330105876
Status : Answered
Chosen Option : 2

Q18 & o ifaer o Tares & 2015 F WA TGS F A€ ¥ AT AT & waiat &
MRS gT AT FHARE # FE A#R & I wed oz g ga A & it # g
HT el &1 AR & aremae Hifew AT AR % e w1 3T e

R favess Ereicany fehr afafafer T
F§ |afAeET | ok afAEge | oR |afawge) oR g o
2015 80 0 a5 0 50 0 73 0
2016 63 21 26 16 46 20 34 23
2017 78 28 15 5 38 15 48 29
2018 42 39 20 ag 34 0 14 12
2019 67 44 14 24 22 30 21 30

av 2019 # HreA H FHRA A@ERT B Fol GEAT Toaedr ofr?
Ans X 1.193

& 2.27

X 3.83

X 4.110

Question ID : 26433085491
Status : Answered
Chosen Option : 2

Q19 & T T (3T SeR ) T ARTST fifew AR e R o wew w1 3= S
N # Wi | TBA | 8T | | 2fEE

ERC 350 | 200 | 460 | 500

EicE:) 90 | 40 | 115 | 130

3axer=® | 180 | 65 | 170 | 185

EEap 200 | 125 | 145 | 235

Fel 800 | 430 | 890 | 1050

2

UEHA & AAG # S99 U g arell 319, 967 4 g arell 31 & fShaer yiaed 87
Ans X 1.40%

o 2.45%

2 3.80%

< 4.90%

Question ID : 26433085488
Status : Answered
Chosen Option : 2




Ans X 1.347%
X 2.27.3%
X 3.32.0%
 4.32.5%

Q.20 fRET X B AR 3T $26,500 & 3NR ITHT AIRIS T $20,500 §1 3T T, ITST 3T A
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Question ID : 26433075436
Status : Answered
Chosen Option : 4

=T B a1 o3 T 87
Ans X 1. 34 7f=id
X 2. 16 Ufa=a
3. 28 UfaRrd
X 4. 22 yfa=ra

Q.21 TS R AR TS W 4% H39 TR 2 af 71 6 7 & T4 HY 17/10 A1 81 Wit 21

Question ID : 264330105674
Status : Answered
Chosen Option : 3

Ans > A 0
X 2. cos?A.sin’A
X3 ]
4 cos?A. cot?A

Q22 5t2A — cos?A ThOgd SER %’?

Question ID : 26433058989
Status : Answered
Chosen Option : 4

7?
Ans X 1.3

K22

& 3.4
X 4.1

Q.23 gfg @ TP g PIUT 3R tand + cotd = 2 §, T tan2 8 + cot? 8 + 2 tan5 Bcot* 6 PT W FT

Question ID : 26433083014
Status : Answered
Chosen Option : 3

Ans X 1.90099
< 2.99990
& 3.99099
< 4.90909

Q.24 5 3] Pt YIQ TS T-T T BT &I 11, 33, 99 AT 121 F U BN

Question ID : 26433074948
Status : Answered
Chosen Option : 3




Q.25 e e &1 Amaa 19,404 cm3 I SE M S R
Ans X 1.19cm

&< 2.17 cm
o 3.21cm
& 4.14 cm

Question ID : 26433063973
Status : Answered
Chosen Option : 3

Section : English Comprehension

Q.1 Select the most appropriate idiom that can substitute the italicised words in the given
sentence.

| have been a vegetarian for a very long time.
Ans X 1.duck in the thunderstorm

«” 2. donkey’s years
25 3. Damocles’ sword

/< 4. die in harness

Question ID : 26433071998
Status : Answered
Chosen Option : 2

Q.2 Select the correct active form of the given sentence.
The memorial event is expected to be attended by thousands of people.

Ans X 1. Thousands of people was expected to attend the memorial event.
< 2. Thousands of people had expected to attending the memorial event.
/< 3. Thousands of people are expected to attending the memorial event.

«” 4. Thousands of people are expected to attend the memorial event.

Question ID : 264330104583
Status : Answered
Chosen Option : 4

Q.3 Select the option that can be used as a one-word substitute for the given group of
words.

A place where coins and medals are made.
Ans 7 1. Mint

< 2. Mine
X 3. Office
< 4.Barn

Question ID : 26433060106
Status : Answered
Chosen Option : 1




Q4

Ans

Select the most appropriate ANTONYM of the given word.
Guilty

/< 1. Remnant

/< 2. Omnipotent

¢ 3. Innocent

75 4. Nonchalant

Question ID : 26433060689
Status : Answered
Chosen Option : 3

Q.5

Ans

Select the correct direct form of the given sentence.
John said that he was there to resolve that fight for them.

< 1. John said to me, "You are here to resolve this fight for you.”
«” 2. John said, "l am here to resolve this fight for you.”
/< 3. John says, "l am here to resolve this fight for you.”

< 4. John said, "l was here to resolve this fight for you.”

Question ID : 264330104631
Status : Answered
Chosen Option : 2

Q.6

Ans

Select the INCORRECTLY spelt word in the following sentence.
Tyrany must be dead to attain harmony, tranquillity, and serenity.

< 1. harmony
< 2. serenity
< 3. tranquillity
o 4. tyrany

Question ID : 26433060814
Status : Answered
Chosen Option : 4

Q.7 Select the most appropriate option that can substitute the underlined segment in the

Ans

given sentence. If there is no need to substitute it, select ‘No substitution’.

Santa Claus stays at the North Pole when he isn’t out deliver gifts for Christmas.

«” 1. out delivering
< 2. out of deliver
3. out to delivering
25 4. No substitution

Question ID : 26433084577
Status : Answered
Chosen Option : 1

Q.8 Select the most appropriate idiom that can substitute the italicised words in the given

Ans

sentence.

He was sacked from his job because of a grave error on his part.

5 1. picking holes in one’s cot
¢ 2. Himalayan blunder

/% 3. raining cats and dogs

< 4. minding one’s p’s and q’s

Question ID : 26433060513
Status : Answered
Chosen Option : 2




Q.9 Select the INCORRECTLY spelt word.
Ans X 1. Precise

«” 2. Kecthup
5 3. Flashy
X 4. Movement

Question ID : 26433063167
Status : Answered
Chosen Option : 3

Q.10 Select the option that can be used as a one-word substitute for the given group of
words.

A very expensive and elaborately built tomb
Ans X 1. Mosque

/< 2. Masterpiece
¢ 3. Mausoleum
/5 4. Cemetery

Question ID : 26433061039
Status : Answered
Chosen Option : 3

Q.11 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

After seeing that Shreya / was in trouble, / Rahul quietly stepped up to help.
Ans X 1. After seeing that Shreya
/< 2. was in trouble
5 3. Rahul quietly stepped up to help
«” 4. No error

Question ID : 26433084858
Status : Answered
Chosen Option : 3

Q.12 Select the most appropriate option to substitute the underlined segment in the given
sentence.

Rearing of silk worms is called horticulture.
Ans 7 1. sericulture

/< 2. apiculture
/< 3. pisciculture
25 4. agriculture

Question ID : 26433088485
Status : Answered
Chosen Option : 1




Q.13 Select the correct passive voice form for the given sentence.

My brother likes football.
Ans X 1. Football is like by my brother.

5 2. Football was like by my brother.
o 3. Football is liked by my brother.
5 4. Football was liked by my brother.

Question ID : 26433088626
Status : Answered
Chosen Option : 3

Q.14 Select the sentence with the appropriate use of preposition.
Ans X 1. They rise with the morning lark and labour by almost dark.

< 2. They rise with the morning lark and labour utmost almost dark.
«” 3. They rise with the morning lark and labour till almost dark.

#< 4. They rise with the morning lark and labour still almost dark.

Question ID : 26433073896
Status : Answered
Chosen Option: 3

Q.15 Select the option that is similar in meaning to the underlined word.

The president's concern for the homeless people was superficial and ended as soon
as the media left the event.

Ans X 1. Insubstantial
«” 2. Shallow
/< 3. Regardless
5 4. Derogatory

Question ID : 26433060591
Status : Answered
Chosen Option : 2

Q.16 Select the most appropriate ANTONYM of the underlined word.

Beowulf was praised for his valour displayed in the battlefield.
Ans X 1. Erudition

< 2. Forbearance
«” 3. Cowardice

/< 4. ldiosyncrasy

Question ID : 26433070523
Status : Answered
Chosen Option : 3

Q.17 Select the most appropriate synonym of the given word.
Tyranny
Ans X 1. Compassion
< 2. Social
«” 3. Autocracy
/< 4. Discordance

Question ID : 26433072201
Status : Answered
Chosen Option : 3




Q.18 Select the most appropriate collocation to substitute the underlined word in the given
sentence.

The banker warned me not to be careless from my ATM card.
Ans X 1. careless on
& 2. careless with
#< 3. careless beside

X 4. careless across

Question ID : 26433074006
Status : Answered
Chosen Option : 2

Q.19 Select the most appropriate phrasal verb to fill in the blank.

The company’s profits were low and they were forced to staff.
Ans X 1.lieon

X 2. lisp off
< 3.layon
o 4. lay off

Question ID : 26433091843
Status : Answered
Chosen Option : 4

Q.20 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
Every nook and corner of the house were unclean.

Ans X 1.of a house was unclean
«” 2. of the house was unclean
5 3. by the house were unclean

/< 4. to the house were unclean

Question ID : 26433084635
Status : Answered
Chosen Option : 2

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The monastery in Tawang has recently undergone (1) and bright paintings
2) it walls. Dances and ceremonial celebrations are held in the (3) , the
most important of which is held on the night of Buddha Purnima, the full moon on which the
Buddha was born, (4) enlightenment and died. To reach Tawang, you drive for 12
hours from Assam’s Tezpur town, a major Indian Forces base. The best seasons the visitor
can choose for coming to Tawang is (5) September to November.
SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank number 1.

Ans X 1. depreciation
/5 2. termination
«” 3. renovation

25 4. innovation

Question ID : 26433073424
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The monastery in Tawang has recently undergone (1) and bright paintings
2) it walls. Dances and ceremonial celebrations are held in the (3) , the
most important of which is held on the night of Buddha Purnima, the full moon on which the
Buddha was born, (4) enlightenment and died. To reach Tawang, you drive for 12
hours from Assam’s Tezpur town, a major Indian Forces base. The best seasons the visitor
can choose for coming to Tawang is (5) September to November.
SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank number 2.

Ans X 1.adore
& 2. adorn
5 3. expose
< 4. rectify

Question ID : 26433073425
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The monastery in Tawang has recently undergone (1) and bright paintings
(2) it walls. Dances and ceremonial celebrations are held in the (3) , the
most important of which is held on the night of Buddha Purnima, the full moon on which the
Buddha was born, (4) enlightenment and died. To reach Tawang, you drive for 12
hours from Assam’s Tezpur town, a major Indian Forces base. The best seasons the visitor
can choose for coming to Tawang is (5) September to November.
SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank number 3.

Ans X 1. shipyard
X 2. junkyard
/< 3. churchyard
«” 4. courtyard

Question ID : 26433073426
Status : Answered
Chosen Option : 4

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The monastery in Tawang has recently undergone (1) and bright paintings
(2) it walls. Dances and ceremonial celebrations are held in the (3) , the
most important of which is held on the night of Buddha Purnima, the full moon on which the
Buddha was born, (4) enlightenment and died. To reach Tawang, you drive for 12
hours from Assam’s Tezpur town, a major Indian Forces base. The best seasons the visitor
can choose for coming to Tawang is (5) September to November.
SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank number 4.

Ans 7 1. attained
25 2. transferred
25 3. received
X 4. displayed

Question ID : 26433073427
Status : Answered
Chosen Option : 1




Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The monastery in Tawang has recently undergone (1) and bright paintings
2) it walls. Dances and ceremonial celebrations are held in the (3) , the
most important of which is held on the night of Buddha Purnima, the full moon on which the
Buddha was born, (4) enlightenment and died. To reach Tawang, you drive for 12
hours from Assam’s Tezpur town, a major Indian Forces base. The best seasons the visitor
can choose for coming to Tawang is (5) September to November.
SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank number 5.

Ans X 1.beside
< 2. about
o 3. between
< 4. among

Question ID : 26433073428
Status : Answered
Chosen Option : 3
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